
������������������������������������
��

�
		�����	������������
		���	��������
��� ­��������

���� ����� ��� ��������� ���� �� �������
����������������������������

����
	�������������������


���������������������������������������
�����������������������������


	�� ������� ���� ������� ���� ������ ���� ��
������� ������ ��� ������ ����� ������ ����
������������������������
 ��������������������������������������������

��������������� ������

������������������������ ��������� ���� �������� ��������� ����
����������

�
���­����­��������
 �����������������������­���������  ��
�� ������������������������������������������������������������������������������������
�
��­���� ���� ���� ������ ��� ������������ ����� ��������� ���� ������ ������ ��� ����� ����� ��������� �� ���� ����
����������������������������

�������������������������������������������������������������������
�
����������������������������������������������������������������������������������������


 ­����­���­���­������������� ����
��������������������������������������������������������������������������������������������������
�����������������������������������������������������������������������


­��������������������������������������������������������������������������������������������������
�����������������������������������


��� �����������
­�������������������������������������������������������������������������������������
���������������������������������������������������������������������������������������

������������������� ������������������������������������������������������
�	����������������������
����������������������������������������������
�	��������������������������������������������������������
��������
�������������������������������������������������������������������������������������������
�����������������


��
���­������
�� ������������������������������������������

����������������������������������

��­������������������������������������������������


������
��� ����� ���� �������� ����������� ������� ���� ��� �������� ������� �������� �������� ����������
� ���� ����
������������������������������������������������������������������������������������
�­��������������
��������������������������������������������������������������������������������
����������������������
���������������������������������������������
������������������������������������������������������
��������������������������������������������������������������������������������������������������
�������
�

���������

���� ����� ������� ��������� ���� ����� ���������� ��� ����� ����� ��� ��� �������� ������� ��� ����� ���������
��������������������������������������������������������������������������������������
�	����������������
����������������������������������
�
 ������������������������������������������������������������������������������������������

Water proof Preservative

���������������������������������������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������������������������������������������

�
		�����	������������ 
���������������������������������������������������������������������������

­������ �� ����� ��������� �� ���������
������� �� ���� ��������� ��  ����������

x2
���������������������������������������
������


2mm Drill bit

������������ ���������� ��������� ������
������ ���� ������ ������ ���� ������� ����
���������������������������


�����­�
������ ������ ���� ����� ����� ������� ����
�������������� �������� ��� ���������� ����
�������������������������������������������
���� ������
� � �������� ��������� �������� ���
����� ������� ����� �������� ����� ���
��������������������������


������� ��� �������� ���� ������
����������� ��� ����������� ���� ��������
��������������


��������������
�������� ��������
�������­�����������������
����������������������
��

��������������������������������
���������������������������������
��������������������������������
����������������������������

��������

����������������������

����������­���­��

������­�
�����������­���

�������

MADE IN GREAT BRITAIN



�
		�����	������������ 
���������������������������������������������������������������������������

�­��­� ���

����������������������������������������������������������������������������

�������������������������������������������������������

 ���������������������������������������������������������������������������������


 ��������������������������������������������


 �����������������������������������������������
���������������������������
�����
	������������������������	������
������������	�������������
����	��

�������������������������������������������������������������������������


������������������������������������������������������������������


�����������������������������������������������������������������������������������������
����������


����������������������������������������������������	����

	�����������������������������������������������������������������


����������������������������������������������������������������������������������
�����

����
����� ���

������
������
���������������������
�����
�������������
�����������������������������
	�����������
��������
������������
�������������
�������������� �������	���
����������
������

��������������­�������
����

�����������������������

­������������
��������

	�������������������	��������
	������­��������������	���������
	���������������������
��������������������������

������������������������������������
��

�������������

­��

��� ���� ���� ������� ����� ����� ����� ������������ ����� ���
���������� ������� �������� ��� ���� ���� ��������� ������� ���
��������������������
�

����������������������������������������������������������

�����������������������������������������


��������
�����������
��������������������
��
��������������

��
� ���������­������
������
�����������
������������
��
���

����� ���� ����� ����� ������� ��� ������� ������������ ��������
����� ����� ����� ����������������� ���� ������������
�������


�­���

ANY QUESTIONS?
Scan the QR code to contact 
us via our customer portal.



������������������������������������
��


���������������������������������������������������������������������������
�����������������������������������������������������������������������������������������­�����������­��������­���

Some steps within this set of instructions come with an added video guide for your 
convenience. These can be accessed via the QR code and used to aid you in constructing that 
step. See below for how to use.

You can also �nd all the videos on our youtube channel:
 https://www.youtube.com/@merciagardenproducts8716/videos 

ACCESSING VIDEO GUIDES...

1.  Find the QR code within the instruction step...

2. Open camera app...

3. Scan QR code...

4. Watch the video...

On your personal smart device (phone, tablet etc), open your camera app or QR code scanner 
app.

To scan the QR code, hold the camera over the QR code so that it can be seen on the screen. 
Once the QR code has been registered, follow the prompts on your device to open the video. 
(This will vary depending on your device.)
Please note: Ensure to use the back camera of your smart device as this will scan the QR code more 
accurately.  

The video guide will now be displayed on your smart device. 

Parts Needed-  No. QTY 1 
     No. QTY 1 
     No. QTY 1

Step.....

Within the instruction step, there will be an icon in the top right that has a QR code in. This is 
where the video can be accessed from. 
Please note: not every step has a video guide. 

Disclaimer: The Log Cabin constructed in the video guides may be 
constructed di�erently to your building. Please ensure to read your 
instructions carefully to avoid error. 

ACCESSING VIDEO GUIDES...



������������������������������������
�	


���������������������������������������������������������������������������

Overall Dimensions:
Width = 4141mm 
Depth = 3428mm 
Height = 2744mm

Base Dimensions: 
Width = 3818mm 
Depth = 2814mm 

Log Boards Contents:

Starter Board - 44x66x4000mm QTY 2
LB44RT66-A-4000mm

1

2

3

4

5

6

7

8

9

Log Board - 44x120x2996mm QTY 32
LB44-A-2996mm

Log Board - 44x120x4000mm QTY 19
LB44-A-4000mm

Log Board - 44x120x560mm QTY 12
LB44-C-560mm

Log Board - 44x120x3096mm QTY 2
LB44-AE-3096mm 

Gable QTY 2
AI-0644AXNE0403HGDD1SW-G-V1

10

11

Log Board - 44x120x4000mm QTY 1
LB44-AD-4000mm (1 x window, 1 x door cut out)

Log Board - 44x120x1870mm QTY 6
LB44-B-1870mm

Log Board - 44x120x560mm QTY 30
LB44-B-560mm

Log Board - 44x120x3196mm QTY 2
LB44-AE-3196mm 

Log Board - 44x120x3296mm QTY 2
LB44-AE-3296mm (Vent cut out) 

Log Board - 44x120x3396mm QTY 2
LB44-AE-3396mm 

12

0644AXNE0403HGDD1SW-V2 Tip: Labelling your parts, using a pencil and masking tape, may help 
you to identify them easier when you need them. NO.1 STARTER BOARD

Missing parts?

?
Scan the QR code to visit our 
customer portal where you can 
quickly raise any missing or 
damaged parts and get a 
replacement sent out ASAP. 



������������������������������������
��


���������������������������������������������������������������������������

Door Contents:Fixing Kit Contents:

2726

28

29

Cylinder Lock QTY 1
PI-07-0234

Handle Set QTY 1
PI-07-0233 (Pair) 

Adjustable Hinge QTY 6 
PI-07-0209

Tower Bolt QTY 2
PI-07-0114

Master Door QTY 1
(Morticed for lock)

AI-06LOGDGMD750X1900-V4

30

31

32

34

34a 34c

35

36

37

Secondary Door QTY 1
AI-06LOGDGSD750X1900-V4

Door Frame Left Upright - 71x70x2065mm QTY 1 
AI-0644LOGDUFL-V4

End View

End View

End View

End View

Door Frame Right Upright - 71x70x2065mm QTY 1 
AI-0644LOGDUFR-V3

Door Frame Top - 88x115x1632mm QTY 1 
AI-0644LOGDDTF-V3

Door Frame Bottom - 71x70x1508mm QTY 1  
AI-0644LOGDDBF-V3

Door Strip - 16x60x1880mm QTY 1
S1660-1880mm

33

Rain Guard - 28x44x1520mm QTY 1
RG2844-1520mm

34b

Felt

24

2mm Spacer QTY 5
PI-07-0208 (20x100x2mm)

25

*This part will be longer than needed and requires cutting to size when used. This will be explained 
when required within the instruction step.  
Note: one piece may be required to be cut into multiple di�erent sizes. Do not dispose of o�-cuts until 
the building is fully constructed as they may be needed in another step.

13

14

15

16

17

18

19

Floor Bearer - 44x58x2814mm QTY 2
F4458-2814mm-PT

Floor Bearer - 44x58x3702mm QTY 10
F4458-3702mm-PT

Purlin - 45x120x3396mm QTY 3
F45120-AE-3396mm

Roof Board - 16x121x2114mm QTY 64
MB16-2114mm

Floor Board - 16x121x2722mm QTY 35
MB16-2722mm

Eaves Frame - 27x44x3396mm QTY 2
F2744-3396mm

Fascia - 16x120x3400mm QTY 2*
S16120-3400mm

Fascia - 16x120x2150mm QTY 4*
S16120-G-2150mm (1 x angled cut)

20

21

Storm Brace - 44x27x2000mm QTY 8 
F2744-2000mm

22

Closure Trim - 16x28x2400mm (approx length) QTY 11*
S1628-2400mm

Plastic Vent QTY 4
PI-07-0237

23



������������������������������������
�



���������������������������������������������������������������������������

Window Contents:

Rain Guard - 28x44x710mm QTY 1
RG2844-710mm

3938

40

Window QTY 1
AI-06LOGDGSW702X1264-V1

Felt Tacks x 25070mm Screw x 31

Screw Pack.

40mm Screw x 500

30mm Screw x 138

90mm Bolt Set x 16

There may be extra screws present in the pack. 

80mm Screw x 8 20mm Screw x 8

Window Frame QTY 1
AI-0644DGWF808X1417-V1

Friction Hinge Pair - QTY 1
PI-07-0236 (Pair)

41

6mm Spacer QTY 5
PI-07-0238 (20x100x6mm)

42

Window Handle QTY 1
PI-07-0235

43

90mm Screw x 40

Pre-assembly

*Please note: 
Each board interlocks at either end in a staggered pattern.

Before securing ensure that the boards are �tted properly in their respective tongue’s and groove’s.

Before assembly, please make sure you have a suitable base ready to install 
your building onto.



������������������������������������
��


���������������������������������������������������������������������������

Step 1
Parts Needed - No. 13 QTY 2
                                 No. 14 QTY 2

Lay the bearers (No. 13 & 14) onto a �rm and level base (free from areas where standing water can collect) ensuring the 
bearers are �at and level and the ends are �ush, as shown.

Ensure to lay the bearers so the widest face (58mm) is positioned on the �at, and the smaller face (44mm) is 
positioned as the height, as shown. 

Fix the bearers together using 2x90mm screws per corner.

Once secured, ensure the bearers are square by measuring from corner to corner, making sure the measurements are 
equal. If the bearers are not aligned equally, unscrew, adjust and re-align accordingly. 

8x90mm Screws
Important: Pre-drill before �xing screws.

13

14

14
13

90mm 
screw

Tape Measure Drill / Pre drillSpirit level

58mm 44m
m

Pre drill 
holes

Step 2
Parts Needed - No. 14 QTY 8

Following the same method shown in the previous step, arrange the remaining bearers (No. 14) inside the 
assembled frame, ensuring each piece is �ush and level. 

Ensure to lay the bearers so the widest face (58mm) is positioned on the �at, and the smaller face (44mm) is 
positioned as the height, as shown. 

*Ensure there is an equal amount of space between each bearer.

Secure each of the bearers in place by screwing through the outside framing into the framing behind using 
2x90mm screws for each end of the bearer, as shown.

32x90mm Screws
Important: Pre-drill before �xing screws. 

1414141414141414

14

14

13

90mm 
screw

Tape Measure Drill / Pre drillSpirit level

Pre drill 
holes




���������������������������������������������������������������������������

������������������������������������
��

Step 3
Parts Needed - No. 1 QTY 2
                                 No. 2 QTY 2

Place the starter boards (No. 1) on to the front and back of the assembled bearers and lightly position the �rst two 
log boards (No. 2) into the notches as shown.

Ensure the boards sit square on the base using the same method used in Step 1. Measure corner to corner, making 
sure the measurements are equal.

Once the boards are square, lift up the log boards (No. 2) and �x the starter boards in place by screwing through 
the notch into the bearer below, using 1x70mm screw per notch. 

Note: Use a mallet and a scrap piece of wood to gently persuade the log boards into place.

4x70mm Screws
Important: Pre-drill before �xing screws. 

2

2

1

1

70mm 
screw

Drill / Pre drillRubber Mallet

Pre drill 
holes

Step 4
Parts Needed - No. 2 QTY 12
                                 No. 3 QTY 6
                                 No. 4 QTY 6
                                 No. 5 QTY 6
                                           
Following the method shown in the illustration, lay the �rst 6 boards (No. 2, 3, 4 & 5) o� of the starter boards to 
create your �rst level.

*Ensure that the boards are level and �ush with each other as you lay each one.

Start by placing the front and back boards, interlocking them with the side boards. Then place the next side boards, 
interlocking with the front and back boards. Continue this method until you have placed 6 boards o� of the starter 
boards on each side, as shown.

Please note: The short boards at the front (either side of the door opening) of the building can be placed either side 
depending on where you’d like your door to be positioned. 

2

3

4
2

5

Rubber Mallet




���������������������������������������������������������������������������

������������������������������������
��

Step 5
Parts Needed -  No. 28 QTY 1
      No. 29 QTY 1
      No. 30 QTY 1
      No. 31 QTY 1

Arrange the left, right, top & bottom door frames (No. 28, 29, 30 & 31) onto a �at and level surface. 

Secure the top and bottom frames to the uprights using 2x80mm screws per corner, ensuring the screws do NOT 
protrude through the front of the door framing.

8x80mm Screws
Important: Pre-drill before �xing screws. 

29
28

30

31

*Assembled frame front view*
Pre drill 

holes

The internal lip of the door 
frame should be positioned on 

the inside of the building.

29
31 2931

29

30

80mm 
screw

Drill / Pre drill




���������������������������������������������������������������������������

������������������������������������
���

Step 6
Parts Needed - No. 26 QTY 1
     No. 27 QTY 1
     No. 34 QTY 6

The Adjustable Door Hinge (No. 34) comes in three parts. 

Fasten parts  No. 34a and 34b of the Adjustable Door Hinge together by screwing part 34a into 34b, as 
shown in the illustration.

Place the Master and Secondary Doors (No. 26 & 27) into the assembled double door frame, ensuring 
there is equal spacing on each side between the Doors and door frame. 

Locate 3 x Adjustable Door Hinges (No. 34c) to each Door and �x in place using 3x30mm screws per 
hinge.

*Ensure the hinges are �tted to the external of the Doors so the doors open outwards from the log 
cabin.  

It is important to �t the Doors within the frames at this stage so that you can establish the position of the 
hinges. 

Fix 3 x  Adjustable Door Hinges (No. 34a&b) onto each door frame using 4x30mm screws per hinge. 
Ensure the hinges on the Doors locate into the hinges on the door frame, and the Doors open & close 
freely without restriction. 

*Please note: When �xing, screws may go through into the channel and not the framing. It is 
important to �t and locate the hinges at this point as the Doors are heavy and easier to locate when 
�at. Be aware that you may have to remove two screws on each hinge at a later point to correctly 
position your log boards.  

Remove the Doors from the frame after �tting the hinges. Open the Doors and lift them o� of the hinges 
attached to the frames. You do not need to unscrew the hinges to remove the Doors.  

42x30mm Screw. 
Important: Pre-drill before �xing screws.

34a

34b

Drill / Pre drill

30mm 
screw

a

a

b

b

c c

d

d

Pre drill 
holes

Secondary Door

Master Door

27

26

34c

Pre drill 
holes




���������������������������������������������������������������������������

������������������������������������
���

Step  7
 
To adjust and align your doors:

1. Lift up the doors to separate the two parts of the hinge. 

2. Turn the rotating barrel (No. 34a) in / out to move the position of the doors either in or away from each other.

3. You can then place the door(s) back on to the hinge and check whether they require more / less adjustments, 
if further adjustments are required repeat number 2.

34b

34a

Step 8

Once you have laid 6 log boards (o� of the starter board) up the door section, slide the assembled door frame over the 
boards, ensuring to rest the frame on top of the starter board. If you have not yet assembled your door frame, please refer 
to steps 5-7. 

Rubber Mallet




���������������������������������������������������������������������������

������������������������������������
���

Step 9
Parts Needed - No. 2 QTY 12
                                 No. 3 QTY 6
                                 No. 5 QTY 12
                                 No. 6 QTY 6

Following the method shown in the illustration, lay the next 6 boards (No. 2, 3, 5 & 6) on to the log cabin to create your 
second level.

*Ensure that the boards are level and �ush with each other as you lay each one. 

2
3

6 2

5

5

Rubber Mallet



������������������������������������
���


���������������������������������������������������������������������������

Step 10
Parts Needed - No. 25 QTY 4
                                 No. 39 QTY 1
                                 No. 41 QTY 1
                                 No. 43 QTY 4

Open the hinges (No. 41) following the directional arrow given on the top of the hinge. 

Lay the assembled window frame (No. 39) on a �at and level surface. 

Please note: The window can be hinged to open on either the left or the right, depending on where you position 
your hinges. Please decide which works best for you before �tting the hinges.

If you want your window to open on the left (from the inside), position the spacers / hinges to the right corners, 
and if you want your window to open on the right (from the inside), position the spacers / hinges in the left 
corners. 

Place one 2mm spacer (No. 25) and one 6mm spacer (No. 43) �ush together and position them �at onto the 
inside framing of your chosen hinge position, ensuring they are �ush into the corner, as shown.

Position one hinge (No. 41) inside the window frame at the top, butt up to the positioned spacers. Ensure 
the coloured corner cap is �ush into the corner of the frame and the straight part of the hinge is �ush to the 
top of the frame.  Make sure the hinge opens outwards, away from the frame. 

Secure in place using 3x30mm screws.

Repeat to �x the other hinge to the bottom of the frame and remove the spacers.

6x30m Screws
Important: Pre-drill before �xing screws. 

41

4325

39

41

41

Pre drill 
holes

Pre drill 
holes

30mm 
screw

Drill / Pre drill

a

b

c

a

b

c



������������������������������������
��	


���������������������������������������������������������������������������

Step 11
Parts Needed - No. 38 QTY 1

With the hinges (No. 41) open in the frame, locate the Window (No. 38) onto the bottom hinge, ensuring to 
position both the top and bottom hinge into the groove in the window, as shown. 

Fix the hinge to the window using 3x30mm screws per hinge. Ensure the window is able to open and close 
without getting stuck on the frame.

Once positioned, unscrew and remove the window from the hinges, ensuring to leave the hinges attached to 
the frame. This will make it easier to �t the window frame into the log cabin.

6x30m Screws
Important: Pre-drill before �xing screws. 

41

38

a

b

a b

30mm 
screw

Drill / Pre drill

Step 12
Parts Needed - No. 39 QTY 1

Once you have laid 6 log boards up the window sections, slide the assembled Window frame (No. 39) over the 
boards, ensuring to rest the frame on top of the board below. If you have not yet assembled your window frames, please 
refer to steps 10 & 11.    

39

Rubber Mallet



������������������������������������
���


���������������������������������������������������������������������������

Step 13
Parts Needed - No. 10 QTY 2
                                 No. 23 QTY 4

Lay the Log Boards (No. 10) onto a �at and level surface and locate one Vent (No. 23) into each vent hole, as shown. 
Secure in place using 2x20mm screws per Vent. 

Flip the Log Boards (No. 10) over and position the remaining Vents (No. 23) into the opposite side of the Vent holes. 
Fix in place using 2x20mm screws per Vent. 

On one side of each gable, the vent will need to be slightly o�set to an angle to ensure the screws do not collide.

8x20mm Screws
Important: Pre-drill before �xing screws. 

1023

1023

23

Pre drill 
holes

20mm 
screw

Drill / Pre drill

Step 14
Parts Needed - No. 2 QTY 6
                                 No. 3 QTY 6
                                 No. 5 QTY 12
                                 No. 6 QTY 6
                                 No. 8 QTY 2
                                 No. 9 QTY 2
                                 No. 10 QTY 2

Following the method shown in the illustration, lay the next 6 boards (No. 2, 3, 5, 6, 8, 9 & 10) on to the log cabin 
to create your next level. Ensure to lay the boards so they create a staggered overhanging pattern at the front of the 
building, as shown.

*Ensure that the boards are level and �ush with each other as you lay each one. 

10
3

6

5

5

2

8
9

10

2

8
9

Rubber Mallet



������������������������������������
��



���������������������������������������������������������������������������

Step 15
Parts Needed - No. 3 QTY 1
                                 No. 7 QTY 1
                                 No. 11 QTY 2 

Following the method shown in the illustration, lay the next layer of boards (No. 3, 7 & 11) onto the log cabin.

*Ensure that the boards are level and �ush with each other as you lay each one.

Fix the top boards to the boards below by screwing through the notch using 1x70mm screw per corner, as shown in 
the illustration.

4x70mm Screws  
Important: Pre-drill before �xing screws.  

11

3

7
11

70mm 
screw

Drill / Pre drillRubber Mallet

Pre drill 
holes

Step 16
Parts Needed - No. 12 QTY 2 

Following the method shown in the illustration, locate the Gables (No. 12) onto the 
front and back of the log cabin.

*Ensure that the boards are level and �ush with each other as you lay each one.

12

Fix the gables to the boards below by screwing through the notch using 1x70mm screw per corner, as shown in 
the illustration.

4x70mm Screws 
Important: Pre-drill before �xing screws.  

12

70mm 
screw

Drill / Pre drillRubber Mallet

Pre drill 
holes




���������������������������������������������������������������������������

������������������������������������
���

Step 17
Parts needed - No. 15 QTY 3

Align the Purlins (No. 15) into the cut out notches on the Gables, ensuring they interlock.

Note: Use a mallet and a scrap piece of wood to gently �x the purlins into position.

Secure the roof purlins by screwing through the purlin into the gable (ensure to pre-drill to avoid the boards splitting) 
using 2x70mm screws per notch.

12x70mm Screws
Important: Pre-drill before �xing screws. 

15

15

15

70mm 
screw

Drill / Pre drillRubber Mallet

Pre drill 
holes

Step 18
Parts needed - No. 16 QTY 64
                                 No. 25 QTY 5

a

b

Place the �rst two roof boards (No. 16) onto either side of the log cabin, making sure the boards are �ush to the 
end of the roof purlin. Once in position �x to each purlin or log board below using 3x40mm screws.

Continue adding the roof boards along the roof, �xing each one into position using 3x40mm screws, making 
sure that each board is interlocked, �ush at the bottom and meets another at the top of the apex. *Ensure the 
roof boards meet at the top of the apex and leave an overhang at the bottom.

To ensure the roof boards are not laid too close together, use the 2mm spacers (No. 25) provided to create a 2mm 
gap. Adjusting the spacing between the boards allows the wood to swell in damp weather.

You have been issued with 64 roof boards, but you may only need to use 62. 

The last board will overhang past the Purlins. Using a straight edge and a pencil, mark out a line as a guide.  

Saw along the pencil mark and remove the excess. Place the cut down boards back onto the roof and secure 
into place using 3x40mm screws per board.

192x40mm Screws
Important: Pre-drill before �xing screws. 

16

b

a

40mm 
screw

Drill / Pre drillSaw

 

Pre drill 
holes




���������������������������������������������������������������������������

������������������������������������
���

Step 19
Parts Needed - No. 18 QTY 2

Ensuring the roof boards are �ush and level, locate the Eaves Frames (No. 18) to the underside of the roof boards on 
either side of the log cabin. Secure in place using 7x30mm screws per frame, as shown in the illustration.

14x30mm Screws 
Important: Pre-drill before �xing screws. 

18

18

18

Pre drill 
holes

30mm 
screw

Drill / Pre drill

Step 20
Parts Needed - No. 38 QTY 1

Once the Roof is secured, open the window hinges and re-position the Window (No. 38) onto the hinges (as 
previously done in step 11)  and �x in place using the same 3x30mm screws per hinge.

Ensure the window is able to open and close freely without getting stuck on the frame.

41

38

30mm 
screw

Drill / Pre drill




���������������������������������������������������������������������������

������������������������������������
���

Step 21
Parts Needed - No. 42 QTY 1

With the window (No. 38) shut tight, from the inside locate the Window Handle (No. 42) onto the window and the 
window casement pin onto the inside of the window frame, as shown. 

Ensuring the two parts locate together and shut correctly, �x the handle in place using 2x30mm screws, and secure 
the pin in place using 2x30mm screws. 

Check that when locked, the window is as tight to the frame as possible. This will ensure a tight seal when the window 
is shut. 

4x30mm Screws
Important: Pre-drill before �xing screws.  

*Internal view of window*

42

38

30mm 
screw

Drill / Pre drill

42

38

Pre drill 
holes

*Adjusting the door hinges*

34b

34a

Step  22

Lift each Door onto the already existing hooks on the door frame, ensuring the hook and bands connect.

*Some adjustment may be required to align properly. To adjust and align your Doors:

1. Lift up the Doors to separate the two parts of the hinge.

2. Turn the rotating barrel (No. 34a) in / out to move the position of the Doors either in or away from each other.

3. You can then place the Door(s) back on to the hinge and check whether they require more / less adjustments, if 
further adjustments are required repeat number 2. 

Tip: The adjustable hinges on the frames are loose and tend to spin when knocked. To aid in locating 
your Doors back onto the hinges, tape the loose hinges to the door frame to temporarily hold them 
in place. 




���������������������������������������������������������������������������

������������������������������������
���

Step 23
Parts Needed - No. 36 QTY 1

Open the Master Door (No. 26) and locate the Cylinder Lock (No. 36) into the lock shaped hole in the Central Lock. 
Ensure the Cylinder is positioned centrally in the door stile, as shown.

Fix the Cylinder lock in place using the screw provided. 

Step 24
Parts Needed - No. 35 QTY 1

From the Handle set (No. 35) position the Metal bar through the central lock and connect one handle onto either 
side, as shown. Ensure the handle with the screw holes sits on the inside of the Master door.

Fix the Handles in place using the two screws provided in the set. 

Ensure the top and bottom Hook bolts work correctly and lock into the secondary door by lifting the handles. If 
not, your hinges may need adjusting, please refer to step 22 for a guide. Also make sure the cylinder lock locates 
properly into the secondary door when locked using the key, if not, then unscrew and re-adjust.  

*Please note: Once the components have been �tted, try closing doors to ensure the doors can be closed and the lock 
works. If your doors do need adjusting, please refer to step 22.

Important: Pre-drill before �xing screws. 

Drill / Pre drill

36 36

35

Drill / Pre drill

Pre drill 
holes




���������������������������������������������������������������������������

������������������������������������
���

Step 25
Parts Needed - No. 32 QTY 1
     No. 37 QTY 2

Attach the Door Strip (No. 32) to the back of the Secondary Door (No. 27) using 4x40mm screws, as shown.

Once �xed, place the Tower Bolts (No. 37) roughly into position at the top/bottom of the door strip. With a 
pencil, mark around the bolt.

After marking the bolt onto the frame, drill a hole for the barrel bolt to locate into.

Following the hole being drilled, place the tower bolts into position and secure using the screws provided.

4x40mm Screws
Important: Pre-drill before �xing screws. 

c

b

32

27

37

Pre drill 
holes

Pre drill 
holes

a

b

c

40mm 
screw

Drill / Pre drill

Step 26
Parts Needed - No. 17 QTY 35

17

Place the �rst �oor board (No. 17) inside the building �ush to the log board on one side. Continue adding 
the �oor boards (internally) making sure to interlock each individual board.

You have been issued with 35 �oor boards, but in reality you may only need to use 34.

*Do NOT secure the boards until the last board has been measured and cut.

Once a full board can no longer �t, measure the gap between the bottom of the tongue (on the last board 
placed) and the log board. Ensure to measure at multiple points along the board for added accuracy. 

Using a straight edge, mark out the measurement onto the last �oor board (No. 17), saw along the length 
and remove the excess. Mark the �nal board 2mm under the measurement; This will allow the timber to expand 
and contract correctly.

Once all the �oor boards are in position, secure each board into position using 8x40mm screws per board.

***Please Note: Ensure to screw through each of the �oor boards into the �oor bearers.

280x40mm Screws  
Important: Pre-drill before �xing screws. 

a

b

a
Pre drill 

holes

b

40mm 
screw

Drill / Pre drillSaw



������������������������������������
���


���������������������������������������������������������������������������

Step 27
Parts needed - No. 21 QTY 5
    
Inside the building place the closure trim (No. 21) against the boarding and align with the roof as shown in the 
illustration. 

*Measure and cut the closure trims to �t the internal space.

Once in position �x each trim into place by pre drilling a pilot hole and using 6x30mm screws per trim, equally spacing 
them along the face of the board.

30x30mm Screws
Important: Pre-drill before �xing screws. 

Closure Trim

Internal

*Measure and cut the
closure trims to
�t the internal space.

Roof

Drill / Pre drill

30mm 
screw

Saw

Pre drill 
holes

21

Step 28
Parts needed - No. 21 QTY 6

Once the �oor has been laid, arrange the closure trim (No. 21) around the outside edge of the �oor (internally), 
measure and cut down accordingly to best match the internal space.

Secure each trim section into place using 6x30mm screws spaced equally along the board as shown in the 
illustration.

*Do NOT �x the closure trim to the �oor boards.

36x30mm Screws 
Important: Pre-drill before �xing screws. Drill / Pre drill

30mm 
screw

Saw

Pre drill 
holes

2121



������������������������������������
���


���������������������������������������������������������������������������

Step 29
Parts needed - No. 24

Cut the Felt (No. 24) into �ve sheets measuring: 3500mm (L) X 1000mm (W).

Lay the sheets onto the roof in the order shown in the illustration. Ensure there is at least 
50mm of overhanging Felt around each side of the building and that each sheet overlaps 
the next by at least 100mm.

Once the felt is laid out, �x to the roof using felt tacks at 100mm intervals.

250 x Felt Tacks

1. 2.

3. 4.

5.

Felt 
tacks 

Cutting tool

100mm

HANDLE
WITH CARE

1 2

3

4

24

Step 30
Parts Needed - No. 33 QTY 1
                                 No. 40 QTY 1

Attach the Rain Guard (No. 40) to the Window frame, ensuring to position the rain guard directly above the window, 
�ush to the underside of the top framing, as shown. Make sure the rain guard is positioned centrally. Fix in place 
using 3x70mm screws. 

Attach the Rain Guard (No. 33) to the Door frame, �xing in place onto the framing above the Door using 4x70mm 
screws.

7x70mm Screws
Important: Pre-drill before �xing screws. 

33

40

Pre drill 
holes

70mm 
screw

Drill / Pre drill



������������������������������������
��	


���������������������������������������������������������������������������

Step 31
Parts Needed - No. 19 QTY 2
                                 No. 20 QTY 4

a

b

Attach the Fascias (No. 19) to the sides of the log cabin (ensuring to trap the felt in between the Fascias) securing 
in place by screwing through the Fascia into the Eaves frame behind using 6x40mm screws per Fascia.

Once in place, mark the excess Fascia with a pencil and trim the Fascias to follow the shape of the building, as 
shown in the illustration.

Locate the Fascias (No. 20) to the front and back of the log cabin (ensuring to trap the felt in between the Fascias) 
and secure in place using 3x40mm screws per fascia, screwing through the Fascia in to the Eaves frame, Purlin 
or log board behind.

Once in place, repeat the above method to trim the fascias to follow the shape of the building.

Ensure the fascias at the back of the log cabin sit level or lower than the felt to allow water to run o�. 

24x40mm Screws
Important: Pre-drill before �xing screws. 

a

b
20

20

19

19

20

20
Pre drill 

holes

Pre drill 
holes

40mm 
screw

Drill / Pre drillSaw

22

22

Step 32
Parts needed - No. 22 QTY 8

Arrange the storm braces (No. 22) around the building (internally), placing two storm braces per wall.  

*Ensure the storm braces are secured at the highest point possible on each side.

Fix in place using 2x90mm bolts per brace, making sure the washer & nut are tightened from the outside of the 
building.

The storm braces will need to be altered during the buildings life as the moisture content within the log boards 
changes.  The boards will expand during periods of high moisture (Winter) and shrink during periods of low 
moisture (Summer).

**Storm braces are required to be adjusted during changes in humidity to allow the building to expand and 
contract. To do this,  periodically loosen the bolts, adjust the storm brace position and re-tighten.

***Important: Ensure each bolt is tightened using a washer so as not to damage the log boards.

16x90mm Bolt Sets
Important: Pre-drill before �xing screws. 

22

22

22

22

22

22

2222
Pre drill 

holes

Pre drill 
holes

90mm
boltDrill / Pre drill



������������������������������������
���


���������������������������������������������������������������������������

Step 33

Once constructed, apply a preserving and a waterproo�ng treatment to your garden building as soon as possible. This 
will help to protect your building and prevent decay. 

See page 26 for a full guide and instructions. 
Treatment

Treatment

Mixing stick Paintbrush/sprayer/ 
roller

Apply treatment

��������������������
Want to share your experience with us? 
Leave us a review on TrustPilot or Google.

Your reviews help other people �nd and trust our 
business, as well as helping to play an important role 
in our growth and improvement! 



	��������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������������
����������������

	����������������������������������������������������������������������
�

�������������������������������������������
�	�����������������������������������������
��������������������������������������������������������������������������������������


����� ���� ����� ��� ���� ����������� ����� ����� ������ ��� ����� ������� ��� �������� ������ ����
�������������������
���������������������������������������������������������������������
�������������������������������
����������������������������������������
�������������
���� �������� ����� ��� ��� ��� ����� ����� ���������������� ���� ����� ���� ������ �������� ��������
����������������
�������������������������������������
�

�������������������������������������������������������������������������������������������
�������������������������������������������������������������������������
�

����� ����� ���� ��������� ���������� ���� ������ ��� ���� �������� ������ ����������� �������
���������������������������������������������


����������­������������� ����

������������������������������������� ��������
��� ���������������������������������������������������������� ���������������������������������������������������
� �����������������������������
�������������������������������������������������������������������������������������������������
�
�����������������������������������������������������������������������������������������
�����������������������������������������������������������
�	��������������������������������������������������������������������������������������������������������������������������������
�����������������������������������������������


���������������������������������������������������������������������������������������������������������������������������������������������

�����������������������������������������������������������������������������������
 ����������������������������������������������������������������������������������������������������������������


�­���­��������­����������������� ���� 
���������������������������������������������������������������������������

�

 ���­­�����������

��������� �
������������ �

ANY QUESTIONS?
Scan the QR code to 
contact us via our customer 
portal.

­������� ������������ ������� ��� ������ ����� ������� ��������� ������� ��� ����� ���
������������


­�������������������������������������������������������������������


�������� ���� ������ ��� �������� ����� ���� ������� ��� ���������������� ��� ���� ������
��������������������������������


 ������ �� ���� ���� ��� ������ ����� ������� ��������
� ��� ������� ��������� ������� �����
������������������������������������
�

������������������������������������������������������������������������������������
��������������������������������������������������������
���������������������������
��������������������������������������������������������


������������������������������������
��





��������

 �������������������������������������������������������������������������������������������
�������������������������������������������
�	���������������������������������������������
���������������������������������������������������������������������������


������

�������� ���� ��������� ���� ��������� ��� ���� �������� ��� ����� ���� �������� �������� ���� �����
�
���������������������������������������������������������
������������������������������������
�����������������������������


����

 ��������������������������������������������������������������������������
���������������
����������������������������������������
�

���������������

�������������������������������������������������������������������������������������
����
���������������������������������������������������������������������������������
�������������������


­��

�������������������������������������������������������������������������������


��������������

��� �����������������������������������������������������������������������������
���������
�����������������������������������������������������������
���������������������
������������ �������� ���������� ��� ������ ���������� ���� ������������ ����������� ��������
������������������������������


����

���������������������������������������������������������������������������������������
�������������������������������������������������������������


������������

	������������������������������������������������������������������������������������������
������� ���� ���� ������� ��������� ��������� ���� ������� ����� ����� ����� ��������� ������� ����
��������� ��������
� 	��� ������������ �������������� �������� ��� �������������� �­������� ����
����������������������������������������������
��
�������������������������������������������������������������������������������


�

�

�

	

�




�

�

��

� ������

����������������������������������������������������������������������������������������
�������������������������������������������������������������
� �������������������������
������������������������������������������������������������������
�

������������������� �������������� �������������� � ���������������� �������������� ���� �������
���������������������������
��������������������������������������������������������������
�������������������������


������������

�����������������������������������������������������������������������������
� �������������
���������� ������ ���� ������� ������� ����� ���� �������
�  ����� ���� ������ ��� ����� ����
��������������������������������������������������������������
� �����������������������
����� �������� ���� ������ ��� ��� ������� ����� ��� �������� ������� ���� ������� ������ ��� ������
��������������������������������


���­������������������� 
���������������������������������������������������������������������������

�����������
���������������������
���������������������������������������������������������������������������������������������
����������������������������������������������������������������������


�� ��������������������������������������������������������������������


�� ������������������������������������������������������������������������������������


�� �����������


���������������������������������������������������������������������������
�

�� ��������������������������������������������


������������������������¡���������������������������������������


���������������������­����������­�����������������­���­� �����­�����������

������������������������������������
���



�����������������������������������������������������������������

������������������������	�����������������������������������������������������������
�������������������������������������������������������
�	���������������������������
������������ ������ ���������������������������������������� �����������������������
������� ��� ���� ����������� ������� ���������� ���������� ��� �����������
� ��� ����
���������������������������������������
�����������������������������������������
��������������������������������������������������������������������������
��

������������������������������������������������������������������������������������
������������������������
�����������������������������������������������������������
����
���������������������������������������������������������������������������������
��������������������������������������������������������������


�������������������������������������������������������������������������������
������ ��������������������������������������������������������������������������
����� ������������
�  ������������ ���� ����� ��� ���� ������� ���� ������ ������ �������
���������������������������
���������������������������������������������������������
�

	��������������������������������������������������������������������������������
������������������� ����� ����� ��� ������ ��� ������ ���� ������ ���� ��� ���������
�­�������
����������������������������������� ������ ��������������������������� ���������������
����������������������������������������������
���������������������������������������
����������������������������������������������������������������������������������
����������������������������������������������������������������������������������
��������


�������� ������� ���� ������ �� ���� ���� ������� ������ ������� ���� ������� ��� �����
��������������������������������������������������������������
�	�������������������
����������������������������������������������� ��������������� ����� �����������������
����������������������������������������������
��

����������������������������������������������������
��������������������������������������
��������
������������������������������������������������
����������������������������������������������������
���������
�����������������������������������������
�����������������������������������������
������������������������������


���������������������������������������������
�����������������������������������������������
����������� ���������������������
������������
��
��

������������������������������������������� ������������������������������������������
��������� ���� �������� ���� ����� ����� ����������
�­�� ���������� ������� ����������
���������������������������������������������¢����������


	��������������������������������������������������������������������
�	����������
������������������������������������������������������
�	�����������������������������
���������������������������������������������������������������


­������������������������������������������������������� ���������������������
����������������������������������������������������
�

�


����������������������������������������������

��������������������������������������������������������������������������������
���������������������������������������������������������������� ����������������
��������


­�������������� ���� ����������������������������������������������������� ������
��������������������������������������������������������


����������������������������������������������������������������

�¡������������������


���������������������������������� ����������� �������������������������������������
������������������������������������������������������������������������������������
����������������
�	��������������������������������������������������


����	�������������������������������������������������������������������������������
�����
���������������������������������������������������

��������� 	������� ���������� �� �������� �� ����������� ���������� ��� �������� ������
�������

����  ���������������� ������� ������ �� ���� ��������� ���������� ���� �������� ��
����������������������������������������


­�� ����� ���������� ������ �� �������� �������� ��� ���� ������� ���� �������� ��� ����
���������������������������������������������������������������������������������
�

����������������������������������������������������������������������������������


�

	 ���������������������������������������������

������������¢�����­��������­�� 
���������������������������������������������������������������������������

�������������������������������������������������������������������������������������
������������������������������������������������
�	������������������������������������
�������������������������������� ��������� ���� �������������������� ��������� �����������
�����������������������������������������������������������������������������
�	�����
����������������������������������������£

������������������������������������������������������������������������������������������
�����������������������������������������������
�

����������������������

 �����������
 ����������������	������������
���� �������������������
���
������������
��
��

������������������������������������
���



������������������������������������������������������������������������������������
���������������������

	������������������������������������������������������������������������������
���������


	����������������������������������������������������������

�
��	��������������������������������������������������������������

�
��	����������������������������������������������������������������

¤
��������������������������������������������������������

�
� 	��� ��������� ���� ���� ����� ����������� ���� ������ ���� ��� ����������� ��� ����
���������������������������������������������
�
�
� � 	��� ��������� ���� ���� ����� �������� ��������� ��� ��� ���� ���� ���������������
�����������������������������������������������������������������������

�
� � 	��� ��������� ���� ���� ����� ��������� ������� ��� ���������� ��� ���� ���� ���������
������������

�
� � 	��� ��������� ���� ���� ����� �������� ��� �� ��������� ������ ����� ������ ������ ������
��������������������������������������������������������

¥
� � 	��� ��������� ��� ��� ���� ����� ������������ �� ����� �������� ��� ���� �������������
���������������������������������
��������������������������������������������������

¦
��	��������������������������������������������������������������������������������
�����������������������������������

��
��������������������������������������������������������������������������������
������������������������
�
��
��������������������������������������������������������������������������������
��������������������������


������������¢����������� � ������������������

�������������������������������������������������������������������������������������������
����������� ���� ��� ������ ��� ���� ��������� �������� ��������
� 	���� ���������� ������� ������
��������������������������������������������������������
�
	�������������������������������������������������������������������������������������������
����������������� ������� ��� ����� ��������� ������������ ��� ��������� ���� ���������
���������

	��������������������������������������������������������������� ���������������������
����


	�����������������������������������������������������������

�
�	��������������������������������������������������������������

�
��	����������������������������������������������������������������

¤
��������������������������������������������������

�
��	����������������������������������������������������������������������������������
����������������������������������
�
�
� � 	��� ��������� ���� ���� ����� �������� ��������� ��� ��� ���� ���� ���������������
�����������������������������������������������������������������������

�
��	��������������������������������������������������������������������������������������

�
��	������������������������������������������������������������������������������������������
������������������������������������������

¥
��	����������������������������������������������������������������������������������������
����������
��������������������������������������������������

¦
��	��������������������������������������������������������������������������������������
����������������������������

��
��������������������������������������������������������������������������������������
������������������
�
��
� � ���� ������� ���� ����� ����� �������� ��� �������� �������� ����������� ������������ ���
��������������������������


����������������������� 
���������������������������������������������������������������������������

����������������������

����������­���­��

������­�
�����������­���

�������

������������������������������������
���


